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StaTEMENT showing Disrances and Grapes by various Routes.

Route,

Remarks.

Taipo Route, Lake
Brunner Line

Arthur’s Pass Route, :
Lake Brunner Line °

Hurunui Route, Lake
Brunner Line

Hope Route, Nelson
Creek Line
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The 1 in 7 would be all on
west side of dividing range,
and all ascending towards
Christchurch.

The 1 in 15 would be all on
west side of dividing range,
and all ascending towards
Christchurch.

The 1 in 33 would be all on
west side of dividing range,
and all ascending towards
Christchurch.

The 1 in 7 would be all on
west side of dividing range,
and all ascending towards
Christchurch.

Of the 1 in 15, 4 miles 23
chains would be on west
side of dividing range, and
ascending towards Christ.
church, and 1 mile 25 chains
would be on east side of di-
viding range, and descend-
ing towards Christchurch.

Of the 1 in 7 grade, 2 miles
10 chains would be on
west side of dividing range,
and ascending towards
Christchurch, and 50 chains
would be on east side of
dividing range, and de-
scending towards Christ-
church. .

The 1 in 4 would be all on
west side of dividing range,
and all ascending towards
Christchurch,

The 1 in 4 would be all on
west side of dividing range,
and all ascending towards
Christchurch, while the 1
in 33 would be all on east
side of dividing range,
and all descending towards
Christchurch.

Of the 1 in 15 grade, 7 miles
would be on west side of
dividing range, and ascend-
ing towards Christchurch,
and 3 miles 2o chains would
be on east side of dividing
range, and descending
towards Christchurch.

The 1 in 15 would be all on
west side of dividing range,
and ascending towards
Christchurch, and the 1 in
33 would be all on east
side of dividing range, and
descending towards Christ-
church.

Of the 1 in 1§, 4 miles 6o
chains would be on west
side of dividing range, and
ascending towards Christ-
church, and 4o chains would
be on east side of dividing
range, and descending
towards Christchurch, while
the 1 in 33 would be all on
east side of dividing range,
and descending towards
Christchurch.

Of the 1 in 7, 2 miles 23
chains would be on west
side of dividing range, and
ascending towards Christ.
church, and 1 mile 15 chains
would be on east side of di-
viding range, and descend-
ing towards Christchurch.




	Author
	Advertisements
	Illustrations
	Tables

